

May 1, 2023

RE: Request for Quote - Road Signage and Bridge Cleaning

Dear Prospective Bidder,

Attached is a bid package for select road maintenance activities on the Kenogami Forest. The scope of this project includes the erection and/or replacement of road safety signage, and bridge deck cleaning throughout the forest.

The project is expected to occur during the 2023 field season and be completed on or before November 15, 2023. The contract will not be extended into 2024 if it is not complete.

Included in this bid package:

- Request for quotation with project description
- Kenogami Forest map identifying where the maintenance activities are to occur
- A spatial file of the road maintenance locations is available on request

If interested, please review the Request for Quotation with the accompanying map and follow the directions for submitting a bid. Bids will be received until Wednesday May 19, 2023 @ 1:00pm. Please provide bids electronically to info@osfmi.ca.

Please contact Ogwiidachiwaning's general manager at the information below with any questions.

Yours truly,

Phil Brown, RPF

General Manager Ogwiidachiwaning Sustainable Forest Management Inc phil.brown@osfmi.ca +1.807.629.3585

Sustainable Forest Management Inc.

Ogwiidachiwaning

c/o Weiler, Malony, Nelson #201-1001 William St Thunder Bay, ON

P7B 6M1

Quotes or Proposals to include details of how award of the Quote/Proposal to the Applicant would result in employment of indigenous people.

Supplies and Services

Provide all labour, equipment, supplies and transportation to complete the following maintenance activities:

- Signage repair/replacement of signage
 - Replace missing signs (Table 1)
 - Brushing around the existing signs
 - Straighten or replace sign posts
- Cleaning/maintenance of bridges (Table 2) including:
 - Cleaning gravel from bridge decks
 - o Cleaning gravel off abutments and bearing plates
 - Brushing "bridge ahead signs" so to be visible from a distance of 50 metres

The bid proposal must include:

- A description of how the work is to be completed
- How many labourers will be employed
- Who will supervise the work and their qualifications
- What equipment will be used to complete the work
- A timeline of when the work will be completed
- Day rates for the work to be completed
 - o The rate is all inclusive including mileage, labour and equipment
 - Costs associate with the purchase of replacement signage may be billed separately and not included in the day rate
- Details of how the proposal will result in employment of indigenous peoples

The successful bidder must agree:

• The employment of subcontractors is only permitted with prior approval

Table 1. Bridge and road signage.

	KM	КМ	
ROAD	START	END	ТҮРЕ
Use Bridge at own risk			Use bridge at own risk
Blueberry bridge	24	24	Chevrons
Blueberry/Crib	6		Radio channel @ Crib road (ch.5/ch.6)
Goldfield	42	120	Km signs
Goldfield	122	122	Km signs
Goldfield			Left turn
Goldfield			Winding road
Goldfield			Chevrons
Catlonite	88	104	Km signs
Twin Lakes			Winding road
Seagram	10	12	Km signs
Seagram			Winding road
Seagram			Sharp turn
Blueberry	36	46	Km signs
Blueberry	37		Sharp turn
Waba	66	68	Km signs
Esnagami	12	14	Km signs
Esnagami			Chevrons
Anaconda	14	26	Km signs
Ogoki	4	20	Km signs
Ogoki			Chevrons

Table 2. Bridge cleaning activities.

		LENGTH	WIDTH	Area sq	
ID	LOCATION	(FT)	(FT)	ft.	Priority
NIP 5055	STAIRS LAKE 79	44	5	217	1
NIP5082	ANACONDA	82	24	1968	3
NIP 5037	OGOKI 54	152	20	3040	1
NIP 5002	OGOKI ROAD	133	24	3192	1
NIP 5011	AGATE BAY	34	16	544	2
NIP 5064	CRIB 20	60	16	960	2
NIP 5010	GRETA ROAD 3	30	24	720	2
NIP 5066	BLUEBERRY 10	16	24	384	1
NIP 5068	TRUAX 6	30	24	720	1
NIP 5067	BLUEBERRY 24	153	16	2448	1
NIP 5009	TWIN LAKES	40	25	1000	1
	TWIN LAKES				
NIP 5070	CAUSEWAY	27	24	648	1
NIP 5069	WABA 75	41	24	984	2

		LENGTH	WIDTH	Area sq	
ID	LOCATION	(FT)	(FT)	ft.	Priority
NIP 5084	CRIB 50	40	24	960	2
NIP 5109	GRANDPA	30	15	450	2
NIP 5044	CATLONITE 10	16	18	288	2
NIP 5059	STATESMAN ROAD	40	16	640	2
NIP 5057	GAMSBY ROAD	51	16	816	3
NIP 5061	WINTERING ROAD	14	24	336	2
NIP 5088	GOLDFIELD	47	24	1128	3
NIP 5046	CATLONITE	61	25	1525	2
NIP 5060	WINTERING ROAD	43	20	860	1
NIP 5050	CAMP 52 LANDING	56	13	728	3
NIP 5045	CATLONITE 24	31	23	713	1